To megsure the volume of an object, two lengths /; and /; are measured.
Ao g0

l,=1545 *005cm

Calculate:

(a) the 9% uncertainty in/,

(b) the % uncertainty in/;

(c) the area of the object

(d) the % uncertainty in the area.

Ad _ 0.05cm .
7, uncerkainty (ﬁi) = 10.25em * 100

=. 4878 %
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To measure the volume of an object, two lengths /;, and /; are measured.

..(a) the % uncertainty in /,
(b) the % uncertainty in/;
(c) the area of the object
(d) the % uncertainty in the area.

9 uncettainky («Qz)= 3100 = 0050 1y

|5.45ecm
-.-.32367,,
{.37, (LSF)




e
To megasure the volume of j s I, and /; are measured.

h — 9 005 cm 53.4 /.3 em?
P00 Y Rrea= 0

(a) the % uncertainty in /, «

(b) the % uncertaintyin/, A -Jli -QZ

(c) the area of the object ( 25cm)(’5 LISC"D
(d) the % uncertainty in the area. A \0

Amas = Jimae * Jomas - |58 em’
P = (10 3cm) (15:50m) = ISG' GBem®
Armn = Ximin * Nz win
(ID 2cm) (15. U )= 151,08 em”
AA= Am,(-ﬁ min_ 1165719708 _ 1,285 cm
2 g —\ Yem?




To measure the volume of an object, two lengths /;, and /; are measured.
[, =10.25 £ 005cm

I, = 1545 + 0.05cm 0/ uncer-lainﬁj _ A u’?@"'_;.f.' uncert
Calculate: ’ ) v ‘9

(a) the % uncertainty in/, (Praduc-l') 1 yA
(b) the % uncertainty in/, = ,5% + 37

(c) the area of the object

(d) the%ayncertginty in the area. =l 8’/0
CZERES =3
13

_ . _ .
/) uncertainty = A_Plrnf_* 100 = = ¥ (00 8.280207/,
0L/




1 The diagram below a

shows the position of

the meniscus of the

mercury in @ mercury-in-glass
thermometer.

iy

)
| v |
T/ 2 a 6 8 10

Which of the following best
expresses the indicated
temperature with its
uncertainty?

B (61O
C (62+02)°C
D (6.2+05)°C ]




3 An ammeter has a zero offset
error. This fault will affect

A neither the precision nor the
accuracy of the readings.

B only the precision of the
readings.

C only the accuracy of the
readings.

D both the precision and
the accuracy of the
readings. 1]




A student measures a distance several times. The readings lie between 49.8 cm and
50.2 cm. This measurement is best recorded as

A 498 =0.2cm.

B 498 = 0.4cm.

0.0 £0.2c
D 50.0 F0.4cm. (1)




The power dissipated in a resistor of resistance R carrying a current /is equal to /2R.The
value of /has an uncertainty of @: nd the value of R has an uncertainty o @

The value of the uncertainty in the calculated power dissipation is

A *+8%.

B +12%. IZR

C +14%.

D +20%. Ve e (1)

g + %R
2004) + 107




1
When a force Fof (10.0 = 0.2) N is applied to a mass m of (2.0 = 0.1) kg, the

percentage uncertainty attached to the value of the calculated acceleration Lis

A 2%. m
ﬁ 3:;’:. % W\CCH' :':,___Z_.. -HDO = 20/0
o T 100

-% uncert: _ ,_',Ls(lw: 57,
i 2.0

°/oumcer+.__ ZF""ZM :70/0
a T




The length of each side of a sugar cube is measured as 10mm with an uncertainty of £2mm.
Which of the following is the absolute uncertainty in the volume of the sugar cube?

A. +6mm’

oo [Omm £ 2 mm A\/Z’:QDZ

B
C. +400mm’
D

. £600mm’ vo iA,Q V: looornm3
V:Jgi- 3 g’uﬁcer‘f‘ ab;]};u;{e

uncertainty
of voluwme

% 3= S 00 = :(odZ* 1000m”

DA\ =% uncert
Qa




The current 1n a resistor 1s measured as 2.00A +0.02A. Which of the following correctly identifies
the absolute uncertainty and the percentage uncertainty in the current?

——beohrte-sucerfainty Percentage uncertainty

—_—
$0.02A *1% )

o 0 wh\

+0.01A +05%
+0.02A +0.01%
+0.01A +0.005%

2.00A £0-02 7




